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Good ethics in implementing AnsProlog programs:

1. Specifications:

· Input: what kind of knowledge. There are two types of input:

i. Domain description (denoted as D)

ii. Initial state representation (denoted as O)

· Queries: what kind of questions to be asked.

2. Define what it means for something to be a correct answer in respect to a query, 

i.e. (D,O) |= Q (from D, O, can we make the conclusion Q?)

3. Programming: Prove that our implementation indeed can produce the results that we claim to be, i.e. (D,O) |= Q iff (1(D,O) |=smodels tr(Q). tr(Q) is some transformation of the query Q.

Domain description D:

a causes f if p1, …, pn, (q1, …, (qr.

where,

a is an action, i.e. something that affects the world, such as shoot, load.

p1, …, pn, q1, …, qr are fluents, i.e. properties of the world, such as alive, loaded.

f is a fluent literal, such as alive, (alive.

So domain description describes how actions affect the fluents in the world.

Initial state representation O:


initially f.

Queries Q:


f after a1, …, an.


implies that after doing actions a1, …, an, will f be true?


e.g. alive after load, shoot.

Define when fluents are true.

An example of incomplete initial state.


a causes f if p1.


a causes f if (p1.


initially (f.


f after a.

Even though we do not know if p1 is true or not, we should still be able to conclude that f becomes true after action a, because p1 can only have two values – either it is true or false.

A state ( is a set of fluents.

We say f is true in ( if f ( ( and f is false in ( if f ( (.

